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Math 10170, Exam I,
March 4, 2015

e The Honor Code is in effect for this examination. All work is to be your own.
e You may use your Calculator.

e The exam lasts for 50 minutes.

® Be sure that your name is on every page in case pages become detached.

e Be sure that you have all 10 pages of the test.

PLEASE MARK YOUR ANSWERS WITH AN X, not a circle!
1 (a) (b) (c) (d) (e)
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3. (a) (b) (c) CY) (e)
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5. (a) (b) (c) (d) (e)
6. (a) (b) (c) (d) (e)
7. (a) (b) (c) (d) (e)

Please do NOT write in this box.
Multiple Choice
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Multiple Choice

1.(6 pts.) Ten Judges have ranked the performance of 4 gymnasts, Mary, Jane, Katy

and Ann
# of Voters
334 )|Ave
Mary [1 2 4 (3+4+/6)p = 3352 = 2.5
(Jened2 3 1 |5 +9+4);, «l‘i/w '7"
Katy (3 4 3 \(THI124+12Yfp = 337 =
Amm |4 1 2 4.@-—“"34—9)/0 = 23/ -

The winner using the Borda Method is:

(a) Am

(b) Mary
(c) Katy
& Jane

(e) Tie for first place between Mary and Ann

2.(6 pts.) Consider the following matrices:

20 1
A‘(1 2 —1) B =

(

0 21
410

Sl )

Which of the following matrices is equal to (A — B)C?

@ (—12) © (;)

(A-B)

/‘.;Z ) >
-3 1

¥

9.4 +(-2)2) # (AW

(=3)(1) +(1)2) +(=)Uu)

3A
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3.(6 pts.) At the Middle Earth games there are 9 events and 4 participating teams, The
Hobbits, The Dwarves, The Elves and the Giants.

Number of Events = 7

122121
Dwarves|1 4 2 3 2 4
Hobbits {4 1 1 4 4 1

Elves (2 3 3 1 1 3
Giants {3 2 4 2 3 2

Each year “The Grand Prize” is awarded to the team with the best overall performance.
If a Condorcet winner exists, the Grand Prize is awarded to that team, otherwise a
Condorcet completion process is used to decide the winner. Which of the following is

4 DY T
/R*)\ The Hobbits are the Condorcet winner Sv 4

(b) The Giants are the Condorcet winner ) = |4

(¢) The Dwarves are the Condorcet winner 5 Ve

(d) The Elves are the Condorcet winner H v G- - ',,L

(e) There is no Condorcet winner 5 v 4

4.(6 pts.) How many games must be played in a round robin tournament with 10 teams,
where each team plays every other team exactly once.

(a) 20 (b) 55 (m 45 (d) 50 (e) 10
W 7_
MmM=io
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5.(6 pts.)The following statistics on passing for quarterback Peyton Manning show his

completion record for the 2014 season. (CMP = completed, INC = Incomplete) & it

- " : —/_—_.
OMP [INC | Total Plc|H) # 1

Home Games | 184 | 78 | 262 - | &4
oy L1

Away Games | 211 [, 124 | 335 PP
ToTAL | _.Bj_ﬁ_____j,_.__..l—-
If we choose a pass at random from the records, let H be the event that it was in a home

game and let C' be the event that it was complete, Which of the following statements are
true?

84 262

o O PEHO=Z  (© PEe)=-2

@ PCIH) =2

8 POE-25 (9 PCIH)=22 Plije)= HCAR
# C

- 154

395

6.(6 pts.) An experiment consists of flipping a coin until a tail appears. As soon as a
tail appears, the experimenter stops and the experimenter records the sequence of heads
and tails. What is the sample space for this experiment?

y 3Top AS Soovy RS a—TpiL AppeAes

Jb.8 {T,HT,HHT,HHHT,HHHHT,...} v *rrw? il ivAvys ervdlS
(b) {H,T} wiT+ THe H—waa/a,vcﬁ

(C) {H1T1HaT,H1T} U{» TIH+HE EirsSI ‘1"4‘ l.
A (THou G H UnLikel

d HTHTHHH THHHH,... .
(S ’ ool e corv  coudd be .
(e) {HHH,HHT,THH,TTT,THT, HTH, HTT, TTH)} Flipped # ritiow bimes
ort o e b‘e«}c’f"ﬁ /L’l/l
Se.e the /

ﬂu SOOIl S ’”‘Pw{f’j
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U Leaw(
pts.) The following table shows the results of a round robin in progress (up to Feb. 25 e
2015 the Six Nations Championship in Rugby). N .
be =1+ 24 TIreland England Wales Scotland France Italy | I pE.
7 } Ireland 1811 263 | 2 0 b
) England 21-16 4717 | 2
/ Wales 16-21 26-23 / /
o Scotland 23-26 815 o |2
/ France | 11-18 15-8 / !
> Italy | 326 1747 62
Which of the following matrix equations must be solved in order to find the Colley Ratings
(keeping the same ordering of the teams as above)? H: / -
at [{ jaed L Y, Teawn
Pleq 2 B Times e
(4 0 0 0 -1 —1\(r1\ (30 .V & '/.';':j/m&~
0 4 -1 0 0 -1 |[m 35 2ty Ny Ay b,
0 -1 4 -1 0 O s | | -2 Ak oy e
() 0 0 -1 4 -1 0 ra | | 10 TR , ,;’ be
= RO R s 0 7oA bs
\-1 -1 0 0o 0 4 f\rs/ \-s3 - . 0 bbL,
. N
(3 0 0 0 -1 2\ (n\ [2 el "lﬁj b y
0 2 -1 0 0 -1 T2 2 v/ .
(b) DEr s ol =0 D s | |2 Co Ll-cni M%Pfi x
(RS ORESE RN B R 1 a | | O
= O O SO Ts 1
110 0 0 2)\n/ \o P louged
4 0 0 0 -1 -1) \ 2\~ Ench etk i P “:1
== 71 ; 24 arfeo:
[ 0 4 -1 0 0 -1 ( T2 ( 2Bl A ToTAL 0O Lidy ant
0 ~1 4 -1 0 0 s | | 1]~ = . nEries
b{\ DRSO TR m [T 0] «— = Dia C‘ =
-1 0 0 -1 4 0 T 1] e y/n
\-1 -1 0 0o 0 4 J\r/ \0) & et 2+2 =4 )
, C
( 2 0 0 0 -1 __1\ (7,1\ ( 30 S() ans w (6!)0/
ORI 2. TR0 S p =1 T2 35 FeoTb
0 -1 2 -1 0 © -2 z.
(d) 0 0 -1 2 -1 0 1= S Tretand }‘M F 7
0o 0 -1 2 0 ||m 0 Tt | Ts2T
e s aa i s e [ﬂljllb
so Th 19w lo

(e) None of the above

. Sl e ol —1]
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Partial Credit
You must show your work on the partial credit problems to receive credit! q )
X

A

8.(10 pts.) The following is a sequence of consecutive wins and losses for 50 games for

the Milwaukee Brewers in the 2014 season:
WL L WW W WIWWW L WD) W/W) WWWIL WWT LWL
%LLV\(V%\W _,'LLLLW L @@@ C@/ @ W('L

The team won roughly 50% of their games in 2014.

If we choose a game at random from the 50 above,
let W we the event that the game chosen is a win,
let WP _be the event that the game prior to the one chosen was a win,

(a) How many of the above outcomes are in WP?
(it might help to circle these outcomes in the data).

12 LONP

DR T
WP JFW NP

(b) What is P(W|W P)?

NAONP Vil
Bl e

T A I

(c) What is P(W)? Sy 99

P(lf\/)' &?W' 50

(d) Would you say that there is evidence of a hot hand effect in the data?

b plujue) = P) > 5 5 < qictly fo

Sl?rwhcaml'q L/ L Zf%
6 43 . &6 511
A
/Z\P f?w (/{, -

La//ye/ ('/l&'r/l G S&’

ouyﬁ to 5“"/7/’///

Fllw{ B T MM J,Iw,&/ jr-j.n rea sl Famd Was Lh/on
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9.(10 pts.)
2c4+y—2z+3w = 8
z—10y+4z4+w = 10
z+y+=z = b

(a) Write the above system of equations as a matrix equation CX = D.
2 1 -1 3 % &
(P yio) 1 i '3_ - G2
51
3 |/ e W

(b) Write the following system of equations as a matrix equation AX = B.

T+2y = 4
3z+5y =
|3 :
(c) Solve the system in part (b) by ﬁndmg the matrix A~! and multiplying the equation
by A~!. (show your work for credj/t). =) ) , S0 )
AT = ad-be | -C & = s-4| -3 |

A:(& L)) = ‘/(5 ‘2">:/'8/ 2>
C C’ o "L) -3 I 3 -l
Al= (3 U Solution: z=_—/4 , y= 1.
X . 5 e
(v‘\; AA(\: A[ (3 _,Y:J
= \10+6> = —/L’)
(u -3 7

®
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10.(10 pts.) (a) What is the longest run of wins in the sequence of consecutive wins and
losses for 50 games for the Milwaukee Brewers given below:

WLLWWWWWWWWWLLWLWWWWLWWWLWWLLWLL
WLLLWWWLWWLLLLWLWL

k2

(b) What is the expected length of the longest run of heads in a sequence of heads and
tails generated by flipping a fair coin 50 times?

L (257 54 M) 3 bn (25) gt
— onl-5) Ln ()

1

(c) Based on your results in parts (a) and (b), do you think it is likely that the probability
of winning remained constant at O.E for the Milwaukee Brewers throughout this sequence

ﬁama?
N0 ﬁ\ﬁ /64/7‘-4 A lo') ézﬁ M4
) tep /é{m WPW _ |
W G 3/,7 LUMZ& WW ,/MM ,JW{\ & TO/Z
Avons o DR & bl L
& o AF ke Lhal el
e @ -
] \1 > Té /SN’l' /‘-é(;o[(u{ A \{*}t’fé,\
OAE T g hed hend T 4

T we defeo o e, an RE Shors
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11.(10 pts.) This problem appears as Problem 1 on the take home part of the exam.
You may use this page for rough work.
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12.(18 pts.) This problem appears as Problem 2 on the take home part of the exam.
You may use this page for rough work.

10



